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Please carefully answer the following questions :

1. Please use the tabular method to fill in the table (see TABLE 1) by
calculating the total number of steps contributed by each and all
statements in the program shown in TABLE 1. (25%)

TABLE 1
Statement sle  Frequency Total steps
float func(float list[ ], intn) |0
{ 0
float sum=0; 1
inta; 0
for(a=0; a<n; a++) 1
sum += list[a]; 1
return sum; 1
} 0
Total
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2. Please answer the following questions: (25%)
(1). Please illustrate all binary trees for three elements: A, B, and C.
(2). How many different binary trees exist for n elements?

3. Refer to the following execution time of programs, please evaluate
their time complexity represented in the [Big-oh] function. (25%)
(1) 59n+28

(2) 63*2" +n?

(3) 56n% +5n+15
(4) 75n + 49

4. Please convert the following infix expressions to postfix expressions.
(25%)

(1) a*b-c+d/e-alc

(2) (a*(b-c+d))*(e-a)*c

(3) ((atb)+c/(p+q))/(r-s/t)



